# National Stakemoney\* Statistics - 1966-2024\*\* - 2YO Races



											© Harness Racing Australia Inc		
				Average	2YO	2YO	2YO Pace	Average	2YO	2YO	2YO Trot	Average	
	Total	2YO	2YO	Stakemoney	Pace	Pace	% of	Stakemoney	Trot	Trot	% of	Stakemoney	
Season	Races	Races	Stakes	Per Race	Races	Stakes	2YO Races	per Race	Races	Stakes	2YO Races	per Race	
2024**	14,727	752	\$12,351,351	\$16,425	655	\$10,940,995	87.10%	\$16,704	97	\$1,410,356	12.90%	\$14,540	
2023**	15,113	746	\$13,042,527	\$17,483	642	\$11,331,427	86.06%	\$17,650	104	\$1,711,099	13.94%	\$16,453	
2022**	14,850	774	\$12,598,977	\$16,278	682	\$11,202,538	88.11%	\$16,426	92	\$1,396,439	11.89%	\$15,179	
2021**	14,720	875	\$12,013,008	\$13,729	768	\$10,599,306	87.77%	\$13,801	107	\$1,413,702	12.23%	\$13,212	
2020**	4,933	445	\$5,891,857	\$13,240	384	\$4,841,819	86.29%	\$12,609	61	\$1,050,038	13.71%	\$17,214	
2019-2020**	13,720	498	\$5,110,760	\$10,263	453	\$4,819,351	90.96%	\$10,639	45	\$291,410	9.04%	\$6,476	
2018-2019	14,068	701	\$10,381,257	\$14,809	634	\$9,300,582	90.44%	\$14,670	67	\$1,080,676	9.56%	\$16,129	
2017-2018	14,087	673	\$9,473,960	\$14,077	610	\$8,481,668	90.64%	\$13,904	63	\$992,292	9.36%	\$15,751	
2016-2017	14,085	662	\$9,166,438	\$13,847	605	\$8,248,285	91.39%	\$13,634	57	\$918,153	8.61%	\$16,108	
2015-2016	14,225	691	\$9,371,534	\$13,562	626	\$8,465,911	90.59%	\$13,524	65	\$905,623	9.41%	\$13,933	
2014-2015	14,474	706	\$9,259,428	\$13,115	646	\$8,429,001	91.50%	\$13,048	60	\$830,427	8.50%	\$13,840	
2013-2014	14,861	805	\$9,830,959	\$12,212	744	\$8,959,379	92.42%	\$12,042	61	\$871,580	7.58%	\$14,288	
2012-2013	14,909	829	\$9,331,167	\$11,256	780	\$8,717,287	94.09%	\$11,176	49	\$613,880	5.91%	\$12,528	
2011-2012	15,189	819	\$9,358,274	\$11,426	770	\$8,755,614	94.02%	\$11,371	49	\$602,660	5.98%	\$12,299	
2010-2011	15,125	862	\$9,547,565	\$11,076	804	\$8,927,135	93.27%	\$11,103	58	\$620,430	6.73%	\$10,697	
2009-2010	15,619	879	\$9,900,854	\$11,264	823	\$9,315,364	93.63%	\$11,319	56	\$585,490	6.37%	\$10,455	
2008-2009	15,423	914	\$9,914,080	\$10,847	854	\$9,337,545	93.44%	\$10,934	60	\$576,535	6.56%	\$9,609	
2007-2008***	13,513	885	\$9,496,552	\$10,731	836	\$8,970,587	94.46%	\$10,730	49	\$525,965	5.54%	\$10,734	
2006-2007***	15,588	960	\$9,525,015	\$9,922	898	\$8,970,155	93.54%	\$9,989	62	\$554,860	6.46%	\$8,949	
2005-2006	15,666	1,024	\$9,503,957	\$9,281	967	\$9,005,029	94.43%	\$9,312	57	\$498,928	5.57%	\$8,753	
2004-2005	15,967	970	\$8,403,548	\$8,663	917	\$7,973,165	94.54%	\$8,695	53	\$430,383	5.46%	\$8,120	
2003-2004	16,037	960	\$8,045,081	\$8,380	914	\$7,665,081	95.21%	\$8,386	46	\$380,000	4.79%	\$8,261	
2002-2003	16,248	992	\$7,742,472	\$7,805	942	\$7,370,364	94.96%	\$7,824	50	\$372,108	5.04%	\$7,442	
2001-2002	16,102	956	\$7,088,134	\$7,414	910	\$6,738,094	95.19%	\$7,404	46	\$350,040	4.81%	\$7,610	
2000-2001	15,588	964	\$7,129,806	\$7,396	-	-	-	-	-	-	-	-	
1999-2000	15,783	985	\$6,714,725	\$6,817	-	-	-	-	-	-	-	-	
1998-1999	15,724	940	\$5,962,043	\$6,343	-	-	-	-	-	-	-	-	
1997-1998	15,420	869	\$5,461,625	\$6,285	-	-	-	-	-	-	-	-	
1996-1997	15,638	939	\$5,563,933	\$5,925	-	-	-	-	-	-	-	-	
1995-1996	15,731	963	\$5,684,047	\$5,902	-	-	-	-	-	-	-	-	
1994-1995	15,615	974	\$5,576,421	\$5,725	-	-	-	-	-	-	-	-	
1993-1994	15,248	997	\$5,569,771	\$5,587	-	-	-	-	-	-	-	-	
1992-1993	15,041	1,040	\$5,769,357	\$5,547	-	-	-	-	-	-	-	-	
1991-1992	15,326	1,084	\$5,459,812	\$5,037	-	-	-	-	-	-	-	-	
1990-1991	16,422	1,192	\$6,516,528	\$5,467	-	-	-	-	-	-	-	-	

Report generated: as at 31/12/2024 Source: HRA Database Page 1 of 5

### National Stakemoney\* Statistics - 1966-2024\*\* - 2YO Races



											s Racing Australia Inc	
				Average	2YO	2YO	2YO Pace	Average	2YO	2YO	2YO Trot	Average
	Total	2YO	2YO	Stakemoney	Pace	Pace	% of	Stakemoney	Trot	Trot	% of	Stakemoney
Season	Races	Races	Stakes	Per Race	Races	Stakes	2YO Races	per Race	Races	Stakes	2YO Races	per Race
1989-1990	16,421	1,196	\$5,719,072	\$4,782	-	-	-	-	-	-	-	-
1988-1989	17,212	1,085	\$4,720,300	\$4,351	-	-	-	-	-	-	-	-
1987-1988	16,279	1,041	\$4,233,171	\$4,066	-	-	-	-	-	-	-	-
1986-1987	15,939	1,085	\$4,031,739	\$3,716	-	-	-	-	-	-	-	-
1985-1986	15,939	1,022	\$3,554,328	\$3,478	-	-	-	-	-	-	-	-
1984-1985	15,751	964	\$2,974,412	\$3,085	-	-	-	-	-	-	-	-
1983-1984	14,836	935	\$2,619,822	\$2,802	-	-	-	-	-	-	-	-
1982-1983	15,243	962	\$2,462,811	\$2,560	-	-	-	-	-	-	-	-
1981-1982	15,112	952	\$2,648,613	\$2,782	-	-	-	-	-	-	-	-
1980-1981	14,748	915	\$1,554,076	\$1,698	-	-	-	-	-	-	-	-
1979-1980	14,330	1,006	\$1,472,849	\$1,464	-	-	-	-	-	-	-	-
1978-1979	14,652	955	\$1,346,914	\$1,410	-	-		-	-	-	-	-
1977-1978	13,628	976	\$1,202,126	\$1,232	-	-	-	-	-	-	-	-
1976-1977	13,507	817	\$968,603	\$1,186	-	-	-	-	-	-	-	-
1975-1976	13,422	809	\$742,954	\$918	-	-	-	-	-	-	-	-
1974-1975	13,234	728	\$670,420	\$921	-	-	-	-	-	-	-	-
1973-1974	11,964	618	\$465,748	\$754	-	-	-	-	-	-	-	-
1972-1973	11,811	599	\$394,784	\$659	-	-	-	-	-	-	-	-
1971-1972	11,285	568	\$387,360	\$682	-	-	-	-	-	-	-	-
1970-1971	11,111	479	\$295,431	\$617	-	-	-	-	-	-	-	-
1969-1970	10,513	418	\$229,541	\$549	-	-	-	-	-	-	-	-
1968-1969	10,082	375	\$186,253	\$497	-	-	-	-	-	-	-	-
1967-1968	9,329	291	\$136,902	\$470	-	-	-	-	-	-	-	-
1966-1967	9,340	259	\$121,761	\$470	-	-	-	-	-	-	-	-

<sup>\*</sup> For the purposes of this report Stakemoney is defined as prizemoney paid to Starters from advertised race stakes, and applies to all seasons listed here. State futurity bonuses, breeders' bonuses, trophies, rugs and other incentives are not included.

Report generated: as at 31/12/2024 Source: HRA Database Page 2 of 5

<sup>\*\*</sup> From 2021 racing season dates are based on a calendar year - 1 January to 31 December 2019/2020 racing season dates are 1/09/2019 - 31/12/2020. For the purposes of this report, the 2019/2020 Stakemoney statistics are for the period 1/09/2019 - 31/08/2020, the 2020 Stakemoney statistics are for the period 1/09/2020 to 31/12/2020.

<sup>\*\*\*</sup> Season Dates: 3/09/2007-31/08/2008. Please Note: Harness Racing was restricted in New South Wales and Queensland for the first part of the 2007/2008 season owing to the Equine Influenza outbreak. Full-time racing resumed in those States December 2007 / January 2008. Travel restrictions were lifted NSW - March 2008, Qld - 30 June 2008. Season Dates: 1/09/2006-2/09/2007. Please Note: Harness Racing was suspended in all States from 25/08/07 to 30/08/07 owing to Equine Influenza outbreak. Racing resumed on 31/08/07 in Victoria, SA, WA and Tas.

<sup>#</sup> At the time this Report was first developed, most clubs raced only on their own tracks, although occasional bad weather or other circumstances made it necessary for them to race at another track. Statistics about stakemoney and racing were provided on a CLUBS basis. In recent times there has been a far greater incidence of Club racing at tracks other than their own, and the HRA reformatted this Report to provide stakemoney and racing statistics on a TRACKS basis. This change occurred from the 2001/2002 season. For further information, please contact the HRA - refer below.

# National Stakemoney\* Statistics - 1966-2024\*\* - 3YO Races



Ivational Star	Kemoney	Statistics	- 1300-2024	- 510 Races							THERE	IS NO FINISH LINE
												Racing Australia Inc
				Average	3YO	3YO	3YO Pace	Average	<b>3YO</b>	340	3YO Trot	Average
	Total	340	ЗҮО	Stakemoney	Pace	Pace	% of	Stakemoney	Trot	Trot	% of	Stakemoney
Season	Races	Races	Stakes	per Race	Races	Stakes	3YO Races	per Race	Races	Stakes	3YO Races	per Race
2024**	14,727	654	\$12,651,866	\$19,345	565	\$10,744,712	86.39%	\$19,017	89	\$1,907,154	13.61%	\$21,429
2023**	15,113	850	\$14,564,391	\$17,135	711	\$12,126,715	83.65%	\$17,056	139	\$2,437,676	16.35%	\$17,537
2022**	14,850	961	\$14,765,422	\$15,365	829	\$12,709,476	86.26%	\$15,331	132	\$2,055,946	13.74%	\$15,575
2021**	14,720	1,054	\$14,685,168	\$13,933	904	\$12,702,515	85.77%	\$14,051	150	\$1,982,654	14.23%	\$13,218
2020**	4,933	406	\$5,473,746	\$13,482	341	\$4,408,421	83.99%	\$12,928	65	\$1,065,326	16.01%	\$16,390
2019-2020**	13,720	922	\$9,524,614	\$10,330	811	\$8,500,215	87.96%	\$10,481	111	\$1,024,399	12.04%	\$9,229
2018-2019	14,068	1,308	\$14,450,609	\$11,048	1,187	\$12,791,910	90.75%	\$10,777	121	\$1,658,699	9.25%	\$13,708
2017-2018	14,087	1,342	\$13,711,158	\$10,217	1,217	\$12,080,843	90.69%	\$9,927	125	\$1,630,315	9.31%	\$13,043
2016-2017	14,085	1,289	\$12,856,221	\$9,974	1,163	\$11,231,618	90.22%	\$9,657	126	\$1,624,603	9.78%	\$12,894
2015-2016	14,225	1,434	\$13,854,648	\$9,662	1,325	\$12,411,974	92.40%	\$9,368	109	\$1,442,674	7.60%	\$13,236
2014-2015	14,474	1,484	\$14,235,035	\$9,592	1,360	\$12,745,512	91.64%	\$9,372	124	\$1,489,523	8.36%	\$12,012
2013-2014	14,861	1,669	\$14,009,737	\$8,394	1,561	\$12,880,206	93.53%	\$8,251	108	\$1,129,531	6.47%	\$10,459
2012-2013	14,909	1,700	\$13,855,230	\$8,150	1,596	\$12,586,292	93.88%	\$7,886	104	\$998,938	6.12%	\$9,605
2011-2012	15,189	1,702	\$13,782,295	\$8,098	1,594	\$12,814,140	93.65%	\$8,039	108	\$968,155	6.35%	\$8,964
2010-2011	15,125	1,683	\$12,822,841	\$7,619	1,576	\$11,884,381	93.64%	\$7,541	107	\$938,460	6.36%	\$8,771
2009-2010	15,619	1,922	\$14,083,226	\$7,327	1,823	\$13,201,876	94.85%	\$7,242	99	\$881,350	5.43%	\$8,903
2008-2009	15,423	1,835	\$14,038,576	\$7,650	1,734	\$13,128,654	94.50%	\$7,571	101	\$909,872	5.82%	\$9,009
2007-2008***	13,513	1,769	\$13,143,439	\$7,430	1,668	\$12,278,994	94.29%	\$7,362	101	\$864,445	6.06%	\$8,559
2006-2007***	15,588	1,837	\$12,712,013	\$6,920	1,743	\$11,910,693	94.88%	\$6,833	94	\$801,320	5.39%	\$8,525
2005-2006	15,666	1,894	\$12,749,149	\$6,731	1,809	\$12,022,689	95.51%	\$6,646	85	\$726,460	4.70%	\$8,547
2004-2005	15,967	1,894	\$12,010,129	\$6,341	1,819	\$11,379,449	96.04%	\$6,256	75	\$630,680	4.12%	\$8,409
2003-2004	16,037	1,940	\$11,336,471	\$5,844	1,863	\$10,764,671	96.03%	\$5,778	77	\$571,800	4.13%	\$7,426
2002-2003	16,248	2,037	\$11,109,855	\$5,454	1,955	\$10,545,516	95.97%	\$5,394	82	\$564,339	4.19%	\$6,882
2001-2002	16,102	2,015	\$10,621,339	\$5,271	1,939	\$10,066,809	96.23%	\$5,192	76	\$554,530	3.92%	\$7,296
2000-2001	15,588	1,960	\$10,077,294	\$5,141	-		-	_	_	-	-	-
1999-2000	15,783	2,060	\$10,510,467	\$5,102	-	_	-	_	-	_	_	-
1998-1999	15,724	1,928	\$9,331,111	\$4,840	-	_	_	_	_	_	_	_
1997-1998	15,420	2,071	\$8,904,950	\$4,300	_	_	_	_	_	_	_	_
1996-1997	15,638	2,127	\$8,683,698	\$4,083	_	_	_	_	-	_	_	-
1995-1996	15,731	1,549	\$7,287,538	\$4,705	_	_	_	_	_	_	_	_
1994-1995	15,615	1,548	\$6,820,159	\$4,406	-	_	_	_	_	_	_	
1993-1994	15,248	1,525	\$6,399,264	\$4,196	_	_	_	_	_	_	_	_
1992-1993	15,041	1,666	\$6,567,750	\$3,942	_		_	-			_	
1991-1992	15,326	1,650	\$6,812,912	\$4,129		_	-	_	_		-	_
1991-1992	16,422	•	\$6,812,912		-	-	-	-	-	-	-	-
1920-1931	10,422	1,781	\$7,400,007	\$4,159	-	-	-	-	-	-	-	-

Report generated: as at 31/12/2024 Source: HRA Database Page 3 of 5

### National Stakemoney\* Statistics - 1966-2024\*\* - 3YO Races



											© Harness F	lacing Australia Inc
				Average	<b>3YO</b>	3YO	3YO Pace	Average	3YO	3YO	3YO Trot	Average
	Total	3YO	3YO	Stakemoney	Pace	Pace	% of	Stakemoney	Trot	Trot	% of	Stakemoney
Season	Races	Races	Stakes	per Race	Races	Stakes	3YO Races	per Race	Races	Stakes	3YO Races	per Race
1989-1990	16,421	1,876	\$7,117,928	\$3,794	-	-	-	-	-	-	-	-
1988-1989	17,212	1,538	\$5,434,297	\$3,533	-	-	-	-	-	-	-	-
1987-1988	16,279	1,751	\$5,657,228	\$3,231	-	-	-	-	-	-	-	-
1986-1987	15,939	1,714	\$5,335,634	\$3,113	-	-	-	-	-	-	-	-
1985-1986	15,939	1,929	\$5,115,629	\$2,652	-	-	-	-	-	-	-	-
1984-1985	15,751	1,886	\$3,996,726	\$2,119	-	-	-	-	-	-	-	-
1983-1984	14,836	1,850	\$3,996,726	\$2,160	-	-	-	-	-	-	-	-
1982-1983	15,243	1,929	\$3,933,194	\$2,039	-	-	-	-	-	-	-	-
1981-1982	15,112	1,858	\$3,178,127	\$1,711	-	-	-	-	-	-	-	-
1980-1981	14,748	1,874	\$2,738,639	\$1,461	-	-	-	-	-	-	-	-
1979-1980	14,330	1,849	\$2,369,676	\$1,282	-	-	-	-	-	-	-	-
1978-1979	14,652	1,918	\$2,318,754	\$1,209	-	-	-	-	-	-	-	-
1977-1978	13,628	1,786	\$2,118,480	\$1,186	-	-	-	-	-	-	-	-
1976-1977	13,507	1,545	\$1,650,755	\$1,068	-	-	-	-	-	-	-	-
1975-1976	13,422	1,590	\$1,396,600	\$878	-	-	-	-	-	-	-	-
1974-1975	13,234	1,429	\$1,170,700	\$819	-	-	-	-	-	-	-	-
1973-1974	11,964	1,219	\$871,174	\$715	-	-	-	-	-	-	-	-
1972-1973	11,811	1,202	\$761,435	\$633	-	-	-	-	-	-	-	-
1971-1972	11,285	1,044	\$599,410	\$574	-	-	-	-	-	-	-	-
1970-1971	11,111	1,017	\$547,168	\$538	-	-	-	-	-	-	-	-
1969-1970	10,513	858	\$410,360	\$478	-	-	-	-	-	-	-	-
1968-1969	10,082	815	\$333,997	\$410	-	-	-	-	-	-	-	-
1967-1968	9,329	664	\$273,864	\$412	-	-	-	-	-	-	-	-
1966-1967	9,340	670	\$252,483	\$377	-	-	-	-	-	-	-	-

<sup>\*</sup> For the purposes of this report Stakemoney is defined as prizemoney paid to Starters from advertised race stakes, and applies to all seasons listed here. State futurity bonuses, breeders' bonuses, trophies, rugs and other incentives are not included.

Report generated: as at 31/12/2024 Source: HRA Database Page 4 of 5

<sup>\*\*</sup> From 2021 racing season dates are based on a calendar year - 1 January to 31 December 2019/2020 racing season dates are 1/09/2019 - 31/12/2020. For the purposes of this report, the 2019/2020 Stakemoney statistics are for the period 1/09/2019 - 31/08/2020, the 2020 Stakemoney statistics are for the period 1/09/2020 to 31/12/2020.

<sup>\*\*\*</sup> Season Dates: 3/09/2007-31/08/2008. Please Note: Harness Racing was restricted in New South Wales and Queensland for the first part of the 2007/2008 season owing to the Equine Influenza outbreak. Full-time racing resumed in those States December 2007 / January 2008. Travel restrictions were lifted NSW - March 2008, Qld - 30 June 2008. Season Dates: 1/09/2006-2/09/2007. Please Note: Harness Racing was suspended in all States from 25/08/07 to 30/08/07 owing to Equine Influenza outbreak. Racing resumed on 31/08/07 in Victoria. SA. WA and Tas.

<sup>#</sup> At the time this Report was first developed, most clubs raced only on their own tracks, although occasional bad weather or other circumstances made it necessary for them to race at another track. Statistics about stakemoney and racing were provided on a CLUBS basis. In recent times there has been a far greater incidence of Club racing at tracks other than their own, and the HRA reformatted this Report to provide stakemoney and racing statistics on a TRACKS basis. This change occurred from the 2001/2002 season. For further information, please contact the HRA - refer below.

### National Stakemoney\* Statistics - 1966-2024\*\* - 3YO Races



											© Harnes	s Racing Australia Inc
				Average	3YO	3YO	3YO Pace	Average	3YO	3YO	3YO Trot	Average
	Total	<b>3YO</b>	3YO	Stakemoney	Pace	Pace	% of	Stakemoney	Trot	Trot	% of	Stakemoney
Season	Races	Races	Stakes	per Race	Races	Stakes	3YO Races	per Race	Races	Stakes	3YO Races	per Race

Copyright Harness Racing Australia Inc.

All material in this Report is the intellectual property of Harness Racing Australia Inc (HRA).

It may not be reproduced, copied, stored in a retrieval system, displayed publicly, transmitted nor utilized for any commercial purposes without permission. The systematic retrieval of any Content to create or compile, directly or indirectly, a collection, compilation, database or directory without the written permission of Harness Racing Australia Inc is prohibited. For permission, apply to: Harness Racing Australia Inc

Data included in this Report reflects the state of the HRA database at the time each Season's Summary was compiled. While the HRA makes every effort to ensure the information in this Report is accurate, no liability is accepted for any errors or omissions.